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1- o = 2xydx + x*dy
1- @ = ¢0s ydx —sin xdy
2- o = 62dx A dy — xydx A dz
1 do=2ydx Adx+2xdy A dx+2xdx Ady =0
2 dw=-sinydy A dx —cosxdx A dy = (sin y — cos X)dx A dy
3 dw=6dzAdxAdy—xdy AdxAdz=(x+6)dxAdyndz
o =a,(X,)dx, +a,(x,)dx,+-+a, (x,)dx, R" 1-
do = Zn:a{(xi)dxi Adx; =0

i=1

® =a,(X,,X;)dX, AdX; +a, (X, X;)dX; AdX, +a5(X;, X,)dx; Adx,

2-

R3

1-

do

0X OX3
a)z = 3.2 (Xl’ X3)dX3 A\ Xm a)3 = 8.3 (Xl’ Xz)dxl N\ dX2

do=dw, +dw, +dw; =0
Q=(a,b) x(c,d)x(e,f)

a,(z) a,(x) as(y)
@ =D, (y)dx +b,(z)dy + b, (x)dz

w
dow=a,(z)dy Adz +a,(x)dz Adx+a,(y)dx A dy

by (y) = —a5(y), by (2) = —a,(2), b3 (x) = -2, (x)

@ =—([a5(y)dy)dx — (Ja,(2)dz)dy —([a,(x)dx)dz

w=Y a;dx, rdx; a;=-a; i j=12,,n R" 2-

ij ji
i,j=1

do



n (0a; 0a;
> [ L +aak']dx A X A dX

i ]

= Zaudx Adx; = Z a, dx; Adx, = Zak,dxk A dx;

ij=1 j.k=1 k,i=1

=y - dx A dx; A dx;

i j k=1 OXk

z —odx; Adx; Adx,
0

i,j,k=1 XI

—

N day;
i j k=1 OXj

1n
_gz

i,j,k=1

( % Ry, day

X 0% OX;

dei Adx; A dx,



